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ProTip

If you can eliminate the other answer choices as distractors, the correct . .
answer is sometimes one you weren’t expecting. EEICENEMBIWEREZFV
FEROBREERAULS. ERHFEADERL EVSTELBDET, WegiEZz AV TR BREZ R

E.g., She’s had a headache all day.

Eliminate the distractors from the following sets of answer choices. Why are
they wrong? The first set is done for you.

(A) The women are going to a shew.

[sounds like snowl AR S2RAXI
(B) The road is lined with trees. Part1
(C) She's walking behird the bicycle. EEHERSE BREOVEDRA IS
[beside / next to, not behind] Part2
(D) They're putting-en winter coats. ISARE o HRBDRA YT
[wearing, not putting on] Part3
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